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Q.1

Q.2
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Q4

QS5
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m STHME BT Th HUT &faor fem | 450 @
BT g9 Y v 9T wAfdd fhan R
B B FHTA OTHT TR SR TR SIH FdT
# gRad= &1 gRETT B8R ;-

(1) mv+/2 @) T

(3) 2 mv 4) mv/+2

UFh of dqggead (Hfemize) # 500 B T
ST9 3R W 2 VHIRR $ gRT Jarfed a1 S
g T W BN 9 IR gEel Toddd
4 x 107 Wb BN | Aiferss &1 TR
B : -

(1) 1.0 8=Y (2) 4.0 &=

(3)2.58=1 (4)2.0 8=

S m, 3MAY Q 3R TS Soll T &I T

HU SSRU B B APIRY AR GBI Bles
(&F) H Y HRAT 2| 3 HHUS & IWI 39
HOT B TSI Holl BN -
(HT (24T
()3T 42T

wwﬁvmsm%nﬁwmaﬂ%ms*a%

RO | TfoHE B fRM ImaRen ¥ ORR
dpvs § T8 fha 0 Fer 2
10 19

(3) 6m (4) 4m

Uh A S&AE &1 Ud &U Saq1 &l
weed gar ® a6 3 x 10° ms™ 3T
A I ATl SIS | FHU Bl AT BRN |
(SagE & SHM =9.1 x 107! kg)
(1H3x107"'ms'  (2)2.7x10% ms™
(3)2.7x10"%ms"  (4)9x 107 ms”

o dared ufgd ® M B/ & R 9
Xd B RIS @1 7| ufgdr @1 fad 9
v m/s 9 I XEH & U masds g Bl
H9 B0 ;-
()~ e
(3) Mv e+

)3
(4) 2 My =

Q.7

Q.8

Q9

Q.10

e el fagd @etd R B & R (s
B+ Q Ay far T B R B dw 0 R
&1 & 9T AKB & 31d%1 & HRUI [Jegd Bice
@1 A E g1 RT & A9 97 ACDB & 37749
$ BRI 5 O W fAgd Bies &1 919 BN -

K

D
(HE,KO feem §  (2) 3E, OK faum ¥
(3)3E,KO feem § (4)E, OK fazm #

QA Bmdl B GHHAA GBI BT AR 1 : 3
2| S b5 P! G@l BT AU B : -
M) @)1:1

(3)1:3 @)3:1

I M (A, 2), M, IR M, FAGAR S5h

oX, UIeH 3R YEH & SIEE u Thdi ¥
(lu = 931.5 MeV/C?) add &) & 3R BE
MG Holl Bl MeV Udhdl H ad $x, Al
BRI : -

(1) M(A, Z) =ZM, + (A — Z) M, — BE

(2Q)M (A, Z) = ZM, + (A — Z) M, + BE/C?

(3) M(A, Z) =ZM, + (A — Z) M, — BE/C?

(4) M(A, Z) = ZM, + (A — Z) M, + BE

T&H YN MR @RUT & A1 T A a1 R
Il JBT 2| A 9T F Th UH Wt Hhvs H

135 m ¥iex S Fol R SHHT 97 10 ms™'
20 ms™' B SIAT 8 |t BT AF B -

()12 )9

(3) 10 4)1.8
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Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

AIPMT - 2008

UH $ & foll GO—9g 9% 349 foF 4
e 1 B 9@ ffedd dopiferd 9
9% & foa fOg @& maurd 8 2

D
OECS C
A B
t Time
(HD 2)A
3B 4cC

TP dTA dael (kettle) H 220 V WR 4 A B
gRT Tl & 39 20°C & a9 R Rerd 1 kg
STt B SaTee H fhaar 99y o 2 S

100°C R Iqerdl B : -
(1) 12.6 min (2) 4.2 min
(3) 6.3 min (4) 8.4 min

P q@ R 49 H fIgd s & umH H

TIg ¥ WER I~ 81 B BRI BIAT © : -

(1) dAre & Iaffa M wolf ik 19 &
qRATILSAT § THIA |

() ™ & wEEl 7 e soegHEl |
THNI |

(3) 9 & URHIIRI H Ferdg Al Bl I<uld |

4 & TRAYRI H THIG

A1fU (NOR) I (NAND) 7 (NOT)
DD

|G BT : -
(1) 7Y e @1 (2) 31fT e @
(3) 31 I B (4) 9 T B

e el Mt & FBroan 7o 5 2 % 31 Ffe
g8 B, A Mo & ARad & URdped d S
BN ;-

(1) 8 % @I
(3) 4 %!

(2)2 %D
4) 6 % @&

TS L IR S M &) Uh Udell B8 Pl
3o W fdg WR 90° & BT W ARSI T
21 Bs B Als a5 4 U& 3%l 39 ke oIl
2 5, 951 B & QA 9N A I TA I I
o faen 4 3| 39 o & I 481 B @
TS 3Ol BT : -

Q.17

Q.18

Q.19

Q.20

ML2 Jamr2
(1 S () 4

ML? ML?
) 24 @ 12

TP p-n BICTSHITS 2.0 eV §$ <RI & yaref
A I g1 39 Ut g1 sraenfya fafewor @
RIATH MR T B -

(1)1 x 10" Hz (2) 20 x 10" Hz
(3) 10 x 10" Hz (4)5x 10" Hz

[, 3R I, g &1 a7 3Mad! avdl Th AT
A UF B EI U B feRn # OToRdl g
JAfAHTH AR =LA TNedell b1 SIre BT : -
MG - L)

G L+L

(2) 2(I; + L)

@G+ L)Y

Ife U 9 Imad (AIsHd) ufhar § Q, E
IR W HAMER, Sl T§ W, INdR®
Folt § gRad+ iR far T &Rl e &,

ar 8rm
(HE=0 (2)Q=0
B)W=0 4 Q=W=0

S9 39 o & a5l P 3R M &1 & dec.
dleedl ST I SisT T, @ 4Q & gfoRieg §
Tl dTell gRT 1 YRR off S99 o/@wen 4 M
3R N fagall @1 favrg-arR 8w : -

40

30
P o— M
—AWWWWW—
0.5Q N 10
A —
0.5Q
(1) 0.5 aree (2)3.2dree
(3) 1.5 aree (4) 1.0 dree
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Q.22

Q.23

Q.24

Q.25

Q.26

AIPMT-2008 =

dqu B Th A8 TWhol, Ol & ', 3 W
el &AM G T B 3 Wha W oA
F1 f2Aid iR q@Hed HAER 39° W 3iR
239° W 8| 919 dfIsid ol W A9 39°C
BT, a1 98 Wl WR I B AT 8N : -

(1) 200°W (2) 139°W

(3) 78°W 4) 117°W

y = 0.25 sin (10 nx — 2xf) FHHOT RH x

qAT y HieRl # g IR t APHvs] § 7, 9 =

P Fad Hal 8 oradr fauy B -

(1) &I x fem #, mafy 1 Hz IR o<1 oed
A=02m%|

(2) TG x o § {5 amam 0.25 #iex
IR e} A=02m B

(3) TG x fen § 3R amafi 1 Hz B 1

(4)Wxﬁ'?ﬂﬁ,mﬁnH23ﬁ’\’ﬂ—\iTléﬁ
A=02m B

qH BRI H Ud g Q M & BRI
foga fva Q x 10" are g1 39 fig W
faega wiee 81 : -

(1) 4mey Q x 10% volt/m

(2) 127gy Q x 10* volt/m

(3) 4mey Q x 10% volt/m

(4) 127gy Q x 10% volt/m

fgaeied ¢, R grameiex p, & Aegq 4
faea-graara fafesor &1 a7 g 2 -

1 Ko
(1) @) [
\WoEg €0
3) 1/i—° @) Juoeo
0

] fd=g S1e@ S H 10 m 3R 15 m 31 g
R Rd B | TIed &1 AMaddIed 0.05 JhTs
R TR HI I 300 HYABUS 2| g7 QI
fagall & S 9 HeA-I<R BN 2

()= (2) /6

(3) /3 (4) 213

T AR Tgd At S 100 3R 1000 ST
ufd Apvs & I raRidl adl 8, 9=

foRemue ™ ) 8 | SHP JMfShad @Rl

1 U BT : -
(1) 1:10° ) 1:10*
3)1:10 4)1: 10

Q.27

Q.28

Q.29

Q.30

Q.31

afe el fheem W & fo e
IRMIeR 3.6 A 1 @1 fec (BAD divad GOR)

foheeet & U] Bl Ao 8l -
(1)2.92 A 2)1.27 A
(3)1.81 A (4)2.10 A

TP cdizd P g @ ford 60 Hiex &
A8 ¥ 15 kg/s @ & ¥ g FRET <1 <@
g OY Al B BRI 10 % AT & Al g
Taiga fha- wfdd (UaR) SO BRal 7 ?

(g=10m/s%)
(1) 12.3 kW (2) 7.0 kW
(3) 8.1 kW (4) 10.2 kW

THh AR UEIH GHRT @ ©iel & dd
@ O d AR Wl F oy gRe=sfed
B A Tl T AR IR wiel & 41 Bl
TR Jgd Wies E 991 8 | 39 3MAfa &=
% fore mawasd Soft Bl ;-

) % gE? Ad

(1) goE* Ad

3) %80 E*/Ad (4) g,E¥/Ad

PIS ISHl BIS TR Th TISTA oid gRT
T @ RO B BB BRI A
TR | I B WHd 10 cm T G
BT AN 1.39 x 10° m ® IR G vedl 9§
HEHE 30 1.5 x 10" m B | gI b PSR
yfafer &1 = 81T 2

(1)6.5x10°m (2)124x 10" m
(3)9.2x10%m (4)6.5x10%m

TH YR] 98D d< U (AR H<) PQRS &I
IR DI Bles H @ A1 7| AR M

4R PS, SR TAT RQ W HAGER FHEDHII T
Fi, F, 3R F; fhamaRI 8 iR I8 &N IS
@ T § Fafad fazmeli # &, @ ¥ QP W
fpareprY 91 81T -

Q
P/
F, <
S ' R
'
() (B3 -F)*-F (F;-F-F,

—>F;

(3)F;—F - F, (4) (F; —F)* +F;
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Q.32

Q.33

Q.34

Q.35

Q.36

Q.37

AIPMT-2008 =

U a1 ey @1 arR @1 dR-4R &= R
10% a1 PR form &1 g1 3 @Rl H
sH@1 ufcRig &Rk fatre uftRig wHgaR
UEl gyl B Jor T H Bl SR ;-

(1) &t gdad |

(2) 1.1 o 3R, 1.1 7on

(3) 1.2 707 3R, 1.1 71

(4) 1.21 o1 iR gaRa

R AT YA A Bl B | e S -

(1) gD Ta1d degEaa 8 S B |
(2) drEgEdE U UfgE® 8 S B |

Q.38

Q.39

(3) drEgRPIY yarel JIEGIY B Al B |

(4) ST UeTe AfrgFES €l Il g |

o ot Wife TR § ¥ P9 @ @ w
SN Rt e ® 2

(a) Spoll T (OEERRIED

(o) STESIfdz® ReRI (d) I BT ol

(e) JrIb1T &
(1) (a) 3R (d)
(3) (b) 3R (d)

Q.40

(2) (a) 3R (e)
(4) (c) 3R (e)

BISRIo URHTY] &I 3fTE 3faReAT B —13.6 eV
2| O19 SOB Soidele UM SIIfofd ofaRel |

BT, A1 3BT ST SHoll & ¢ -
(1)10.2 eV (2) zero
(3)34eV (4)6.8¢eV

9 % UMD YAMIe B WR U D Bl
dreedl @™ 10 Brar g1 & gafiaw @
qreed] oY B : -
()1.25 (2) 100

Q.41

(3)90  (4)10
50 Q 9feRIY & T Teqd=Her @l 3V B
T8 9 39 aRE ShrsT T & b 2950 Q &
N 3T si9lds sl =] 39 Rafa 4
Tegadier § 30 y9Fl &1 @ Wl @l
fagiua a1 @ fagus @1 20 JurT &1 BN @
forr sietrag wfcR1g BT 8191 8 @ -

(1) 6050 Q (2) 4450 Q

(3) 5050 Q (4) 5550 Q

4 kg SHHAM B TH A9 200 UM GIAM Bl
Th el Teh fapic gR1 ol & | fawpie

A 1.05 kJ Sl Icq=1 =il 2| M Bl

IR I B : -
(1) 40 ms™ (2) 120 ms™'
(3) 100 ms™ (4) 80 ms™'

U® a.c. GRUY # &/ Aargd (e.m.f)e 3R
gRT | & HAGAR 94 191 geR Faa &
ST AHT T ;-

e =E, sin ot

i=1, sin (ot — ¢)
ac. P TH ARHA (IMEd) W gRuy H
e it B -

M2 coss
(3) 2o (@ Z2sin ¢
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AIPMT - 2008

T1 fafdrore ugreif X, don X, & &g fadie
PAGAR 5L 3R A 2| AR IR™ A I
Bdl B GIN GHH B @ fhdd 99y

g X, 3R X, # 99 sl B U 1
c
BT 2

1 e 1
(1) w (2) o (3)r “) 5%
UHh UHR AT Ueied & ad B R Heaad
6.2 eV B | mufaa fafese s forr fMRigs
fag 5V dree 81, BT aRIQE] 99 -
(1) ereRad k¥R # |
(2) X-fopzor ok # |
(3) WIS gR™R H |
(4) T3y URWR 4 |

e fIg WRel offad el PRAI © AP
AMABTA T R T BT FHIDBRIT X = a sin
(ot + 1/6) B | AMAdHIA B fhd e & T
g &1 91 9D Af¥eaH I H1 ST
B ?
(1) T/3
(3) T/8

) T/12
@) T/6

f, 3R f, BIHA gRAT & 31 Udd o9 el
w0 Y S g Tl 39 W B ARG (UER)
2l -

0 f, +1, @ f, +1,
fif,
f f
3) |=L 4) -2
3) £, “4) ;

10°C R T el 9 & F9d geme &
¥ @ I’ & &9 &I qguTd x 8, a1 110°C
TR g 31U BT A BRT -
283

10
(D Tl 2 ETTR
383
3)x ) EYThe

Q.47

Q.48

Q.49

Q.50

Q.51

Q.52

Udh UETS! @ Al & dhal @ 3 20
Hrex 21 TP AR PICEX Bl 39 dRg a1
T ® fh, S s " OO X8 IEl uREl @l
el & i gad & @ S WREMar &
AW BT B UBRE! @ A W BR B
el BN ;-

(D16 m/s3AR 17mvs & =

Q) 13 m/s 3R 14mv/s & =

(3) 14 m/s 3R 15m/s & §F

) 15 m/s 3R 16 m/s & §1F

0.2 ¥l a1 & T TaeR fow @
l(ﬁbjﬁwﬁwwmﬁsﬂ

T m2

N
UhR G & P, STPT 3T B & AT 60° Bl
PO FAK 2| SR W wHEUT gED
TR B : -

(1) 0.08 Wb
(3) 0.02 Wb

(2) 0.01 Wb
(4) 0.06 Wb

TP g fowp iR o<y R1, RiFer gouam
3R B FoE A B, & STuN—31ud 31eT B
e aRymor froaneli 1 orgurd &R : -

M V21 @2 43

3) V3 2 @ 1:42

TS Ja $I GeREMer ar @& 110 3.+
3R 100 ¥ #l. & U PAGAR 10 Q B
gfoRig @ wifed 3R 9 wifed oraxenm #H
Agfera fbar S Adar 81 A @1 AaRae
TfRIE 8T : -
(1) 2.0 304

(3) 1.0 304

frfafed ogaRemue § &F SE®  |AFH
foel yaftr & AR 781 © ?

(1) F,> Cl, > Br, > I, 31a= fagio ol

(2) F,> Cl, > Br, > I, fagaeora

(3) F, > Cl, > Br, > I, U=+ 3fh

(4) F,> Cl, > Br, > I, Seldgiq UIftd Tered)

Ife g T Rerk dro W yailRa 8l &
g Torar & b -

(1) 3rvg3it @ MT—FHat g8 & B |

(2) 1 & AR B F@ 9 A © |

(3) 33T B TRIT—Foll T SR B |

4) 9 ®1 9 98 AT B |

@3
(4) 0.5 3N
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Q.53

Q.54

Q.55

Q.56

AIPMT-2008 =

Th AB, 19 & 3OS & IIdRel &l 59
YPR AT fhar &1 Iohd1 § : -

2AB; (g) ==2AB(g) + By(g)
faaro @ f$ 'x' & e 1 & ga | 98
Bl 8| 98 aoid o fquoH Sl &1 9w
ReRi® K, T §d a6, P & A1 A=
PHAT B, B -
(1) 2K,/P)"?
(3) (2K, /P)

i faemd # 89 d Wiiem @
FEAE B FHieRe g1 weflRfa
B B

CH;3;COCHj5(aq.) + Bry(aq.) —
CH;COCH,Br(aq.) + H (aq.) + Br (aq.)

fea gu afdfebar Arsaei & fog ¥ wfde

(2) (Ky/P)
4) 2K,/P)"”

s uTal 8Y |

YRS Arsdrd, M

[CH;COCH;] [Br,] [H]
0.30 0.05 0.05
0.30 0.10 0.05
0.30 0.10 0.10
0.40 0.05 0.20

YR® X, Br, 1 faad= Ms™
5.7%x107
5.7x107
1.2x10™
3.1%x10™*

$9 3PS! B AR W &R AHDR € : -
(1) &R = k[CH;COCH;] [Br,] [H']

(2) SR =k[CH;COCH5] [Bry] [H']

(3) X =k[CH;COCH;] [H']

(4) & =Kk[CH= COCHs] [Br]

AAFHAT Fe(OH)s(s) = Fe'" (aq.) + 30H"
(aq.)ﬁﬁOH’maﬁwiﬂ:ﬂ?ﬁq
B T O O IR § Fett Imae @
sl §¢ SR ;-

(1) 64
() 8T

(2) 47T
(4) 16T

1 L 909 399 (C3Hy) (RTI1 3=t 0°C
latmwmwg)ﬁﬁﬁiﬁmsﬁ
gRRera # (3| 0°C T2 1 atm W), SIS
T 1 oo MmId= 3Maeged BN 2

(1)5L 2)10L

(3)7L 4)6L

Q.57

Q.58

Q.59

Q.60

Q.61

Q.62

Q.63

UH Urs W 3, 4 91 5 pH a1 9 8r
faeral & SRR SdE e oa © | s
H H' 3 & Arsal a1 8l 2
(1)3.7x10°M (@) 1.11 x10° M
G)LI1x10*°M  (4)3.7x10*M

TfEEE uforenud & ufa e difel &

Arufera forarefierar 39 &9 H 8 -

(1) TRE TERESES > TAES > UReX > URTd
FARTSS

(2) WRTeT FelRTES > TRER > URFS TTEISSISS >
NIES]

(3) Vit FERTSS > URYS TRISSRS > TReX >
RUIES]

4) TR > e deRige > UASS > URe
RSEIESIES]

DNA # IR& &R § : -

(1) TS Torr TanfeH, Arafis den AreiiRE
(2) IS TA1 TS, Freify e =
(3) TS dern amafae, qenfae den Arerie
(4) TS dor omafae, et qen R

€] (€]
(i) H;CCH, (i) H,C = CH den
(iii) H-C = ¢
BT &R IEed sH HH H © ;-
(D) () > (i) > G (2) () > (i) (iii)
(3) (i) > () > (i) (4) (iii) > (i) > (i)

STt ¥, fA=falRad @ e & AreRar & re-
e e 99T U B sHH W fR9 e
@1 pH STaaqH BT ?
(1) MgCl,
(3) SrCl,

(2) CaCl,
(4) BaCl,

STl faer & emafe wifdreiierar &1 %49 § ;-
(HRb">K">Cs">Na"
(2)Na'>K">Rb" > Cs"
(3)K">Na">Rb" >Cs"
(4)Cs">Rb">K">Na"

e Rufy den w9 § ifafd=dar s_mex-
IR B a1 9 F fafdedar € -

(1) Um/(h/ ) ©) (h/m)
(3) 12m4/(h/m) (4 +(h/2m)

gcollegedunia;



Q.64

Q.65

Q.66

Q.67

Q.68

Q.69

Q.70

AIPMT-2008 =

$9 39 CH;CH = CHCH,CHBrCH; & fdba
faw Ty gt 2
(18 22 ()4 46

frfaRad B° & 7M1 & MR R 99 Y9d
MMRNBRSD © : -

[Fe(CN)e]* — [Fe(CN)¢]> +¢ ', E°=-0.35V
Fe*" 5> Fe* +e!,E°=-0.77V

(1) Fe** (2) [Fe(CN)e]*

(3) [Fe(CN)g]* (4) Fe*'

Ti =22, V=23, Cr = 24, Mn = 25 & gcd 87
g M= wrarredt &1 W BH B -
(HOMn>Cr>Ti>V (2) Ti>V>Cr>Mn
3)Cr>Mn>V>Ti (4) V>Mn>Cr>Ti

goIaed Wl IMhHY & ufa o § J @

a1 srfdeas fharfiar & 2
Cl

OH
(D @/ 2

CH,0H NO,
OGS

AR Sre—3te Bl IR fg wRETR®
WSt e 6y MU 81 5 F B
3THH ITd 9gd I HH Pl I BT © ?
(1) C3” < He;<NO< 0,

(2) He; <05 <NO< C3”

(3) 0, <NO<C3 < He}

(4)NO< C3 <05 < He}

6.5 g of PbO Td 3.2 g @ Ufifshar gr1 oIS
(1) FORTEE & fhae Al w31 2

(1) 0.011 (2) 0.029

(3) 0.044 (4)0.333

71 & PETERE BT @i,

e
'S

(€]
(iv) RsC-CH,

(€]
() R-C=C

(iii) RyC=C H

SAPAHAT ;-
(1) (iv) > (ii) > (iii) > (i)
2) () > (iii) > (i) > (iv)
(3) (1) > (ii) > (iii) > (iv)
(4) (ii) > (iii) > (iv) > (i)

Q.71

Q.72

Q.73

Q.74

Q.75

RISHHE B 99 &R C,H:ONa & 91
AWPHd BT W@ B Al UE R A
<dl &, oA @ 2 ¢

$H3 ?H3
Hopmne

SONIS O
3 @—E:CH_E‘@
“) @‘iﬁjcmcﬁ)‘@

el (8cd = lgem®) & Qb 379 &I AR © ¢
1)3.0x10%cem®  (2)55x10% cm®
(3)9.0x 102 cm®  (4)6.023 x 10 % cm’

H,, Cl, @M HCl &1 3= faare vl
U 434, 242 TAT 431 kJ mol™ 8| HCl &1

T T B -
(1)-93 kJ mol ™' (2) 245 kJ mol ™!
(3) 93 kJ mol™ (4) —245 kJ mol™

1 dgell 4 | P A STdH IITED
FIER Tl BRl & ?

(1) [Co(OX), (OH),]"

(2) [Ti (NHa)e]*"

(3) [V(gly)> (OH)>(NHa),]"

(4) [Fe (en) (bpy) (NH;),]*"

T8l gly = glycine, en = ethylenediamine iR
bpy = bipyridyl moities

(TRATY] FATY Ti=22, V =23, Fe =26, Co =27)

1 A P A pUA A TE B 2

(1) =1-S, Herelsd AT LT &bl Uh
HEIgAD B

(2) WHIH @R, AT BT TH 1, 4-
AR 2 |

(3) debidRul H, A= sigaRl & weg
PR Ugell & I ¥ TR B3R AT
HOIgd &1 STl 2 |

(4) THAPH IR & IS fgarmead W gid-
fa=ama g B |
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Q.76

Q.77

Q.78

Q.79

AIPMT-2008 =

fel| @1 afafhar § v N SAe C
e foar T,

©/ N aNo
alNU,
HCI1 (B)
(A) CH3
O
Cold
C & A1 B8 -

/CH3
NH—N
Qv O
/CH3
N=N
(2)@ ® N,
r=n—ci—N—O)
(3)@ |
CH;

CH, CH,
) @NzN@

PCls(g) = PCl;(g) + Clx(g)
IWRIGd T graRen sf@fkar b oy

efeiRad & & I A It Hal 8 2
(1) AH< 0@ AS <0
(2) AH> 0 eI AS <0
(3) AH=0 T2 AS <0
(4) AH > 0 G2 AS > 0

soag @ Rafd &1 #@gE, dam o H
ff¥ead & Hafd 8 S f 1 x 10 g em
s B W B sAded d 97 § yff¥Edar
g, (3T B Aefd =9 x 1072 g)
(H)1x10°ems’  (2)1x10" ecms™
3)1x10°ecms?  (4)1x10°cms™’

3ISIA 319 & BV mpfa # R &R urg
ey fha 81 ® 2

(1) 1 R 8k 1 9rs *mee

(2) 2 v 3R 1 Ut *ma

(3) 1 R 3R 2 Urg 3ma=

(4) 2 R 3R 2 Urg 3maw

Q.80

Q.81

Q.82

Q.83

Q.84

Q.85

B Bfgd T Thd I H Wa= R
oI gfoerd 91 8 ;-
)34% (2)28% (3)30% (4)32%
AfAfpar Hi(g) = 12 Hy(g) + 121, (g) &
g ReRie &1 719 8.0 & |

AMAfHAT Hyg) + I(g) = 2HI(g) & A
ReRTd &1 A9 B : -

16 @18  (G)1/16 () 1/64

Afffraell X =Y +2Z (1)
A=2B..Q) @ for K don K, & 7
H9: 1 @ guid g T X Tl A Bl
o™ @ AP R)ER 8 a1 argaRen (1)
TN (2) R Gl &6 H AU © -

(1)36:1 2)1:1
3)3:1 #1:9
1 9 9 1 T W9 EREE 8 ?
(1) sgfer (2) AoReRH
(3) TRRIfRTA (4) STfRTRA

HreRTS M qar & &

(1) uRffd dga W 9% omad  fagqa
JqUYST H AADd b fog UHh FlREd
ANEM d ©, fag[@ emEey & g
3T @ UG B W 8|

(2) URME Iga W TS A fagd
Jugey & JUibl daddl B forg
ffea drem <@ 2| fRga svacy &
TR AR B IPT {F W BT |

(3) uRfE dgar R, TP A fdgd
Jugey P Jodid! daddl b fau Ud
fftga are < B, faea eveey &
T IR B TP FB W B |

(4) ORI g W, WS JIF  fagd
JUECy & JAD! ATADdl B [l TH
fAfRFd Irem <@ &, S & faga sueey
B 3 IR B U W IR e |

N HHRET BT A U1 Al 4 & S ;-
(1) S U & T | AR B

(2) et 7 rfAfharell &1 eremad axa B |

(3) rAfharell & Ty T IS DA & |

(4) TARATH A S ST UG IATEH Bl

gerd |
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Q.86

Q.87

Q.88

Q.89

Q.90

AIPMT-2008 =

71 @l § ¥ D19 A1 F8l T8l g?

() BR & U I ¥ H Bed & TRATRI
B T 4 BRM B |

(2) SI STTABT B T, H Th fhved @
giffpa forar ST 8, 14 21

(3) I A H URANS] gRT BRI T
3MITT el MM 0.48 B |

(4) enfdaem I STHAR A areyeiet B € |

39 UBR BT Sy2 wfoeemdt ifafshar &

R-Br+Cl- —2MF s R CI+Br

/1 9 9 feae) Swaaw mufdie g 8 2
CH,

|
(1) CHs~C—CH,Br (2) CH;CH,Br
|

CH,
(3) CH3—CH2—CH2BY (4) CH3— CH—CH2BI'

|
CH;

Fr=tfeaRed RaAifigs el 9 9ed gV
T DI P FEl HH o1 8 ?

(1) NO} < NO, < NO;

(2) NO} <NOj <NO,

(3) NO; <NO} <NO,

(4) NOj; < NO, <NO}

frafalRea & 9 fow g @ @ RifereE
P I fHar Sy e {6 98 p-IadR &1
ef-areTd < 2
(1) Sreif=e
(3) S

(2) IR
(4) Iif®

H3C—(|JH—CH=CH2+HBr% (4)
CH,
AT Y W)E ?
(1) CH3—CH—|CH—CH3
|

Br CH3

) CH3—(|3H—?H—CH3
CH3 Br

3) CH3—|CH—CH2—CH2 Br

CH;
Br

(4) CH;—C—CH,CH;
|

CH;

Q.91

Q.92

Q.93

Q.94

Q.95

Q.96

Q.97

Udh ®EfId Ah H Bred, sSSIo del
ARG SURYT B | §OPT dlfcdd  faveryor
C, 38.71% @M H, 9.67% <di & b &

AT A B ;-

(1) CHO (2)CH,0 (3)CH;0 (4) CH,0

Frfoad Sudewdcd daqel 4 A fead
Ao (CFSE JICHa®d & H) &1 gRHE
Haiferes s ?

(1) [Co(eN) [
3) [co(H,0), ¥
(URET9] 4. Co=27)

@ [co(c,0,),
@) [co(NH, ) P

Uedhell gy Ied AU TR YU §RI oAdU]
A ESSIZS 91 2| S9 EISgIsS] @
a Rerar f=foRag & 9 fbd 9 #
gl 8 ?

(1) NaH>LiH>KH>RbH>CsH

(2) LiH>NaH>KH>RbH>CsH

(3) CsH>RbH>KH>NaH>LiH

(4) KH>NaH>LiH>CsH>RbH

1 4 P9 7R Bod H T8 8 2

D g+w (1) ¢
(1) w (IV) H-TS

(1) (D), (I1) @2 (I11)  (2) (IT) @2 (11D
(3) (I) @11 (IV) (4) (1), (II) T2 (IV)

HESICICR]
6 5 4 3 2 1
CH;—CH=CH—CH,—C=CH

H 1,3dAT 5BET ® FHIU P JaRATY 4+
hH ﬁ % D=
(1) sp,sp’, sp’
() sp”, sp.sp’

B 3doele & TP Al Bl 3l HegHd H
Uil SfEiipd A B fo’l, MnO; &
fhd= Jrcdl B SmagIRaT 8RN 2
(1) 7.5 9rat (2) 0.2 AT
(3) 0.6 HIc (4) 0.4 91

2) sp3, sgz, s;g
(4) sp, sp”, sp

a1 = bt & ol -Reris &,
Ak, B A BH: 100770 e 10,6107
& /9 a9 W k,=k, BT €, T8 -

(1) 2000K (2) 1000/2.303 K

(3) 1000 K (4) 2000/2.303 K

‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘



Q.98

Q.99

Q.100

Q.101

Q.102

Q.103

AIPMT-2008 =

TP U9d &R 9 § 9 foad o-g8gsoe &l
IR HR AT & ?
(1) fre=
(3) VeI

(2) T
(4) T

298 K W H,0(/), COx(g) TAT U= (g) B
qad & o AMe g Soiid HAT
(kJ/mol #) -237.2, -394.4 I -8.2 & | U=H-
MRS 9 A B L BT H19 B : -

(1) 1.0968 V (2) 0.0968 V

(3) 1.968 V (4) 2.0968 V

IE ¢, Uh THE TF : AERV 8F, B
Bfgd g9 T Boad dfad 9 B DR
TG Bl S B Al 9 dAl A D D
el &1 U HHe: 59 UHR 81T

%% 22 2) a:4/3a :4/2a
a v3a a a a
3) 2.3, 4) —:3a:—
Oy ()2\/21\/5

JRNe  SEESIvFS &1 Uh  ufaef
HSHS T BT © 2
(1) a-BIeTeee
(3) Heime

(2) Fele
(4) 3ifRreeRice

gl U ¥ SHS dfg BN T PR bR D
AR e Afhd uRaEs IR i & dR
TR HTAvTE- fad g feErl gear g ?

(1) @i aredl

(2) geft *rT A

(3) arfe@mell qe arfefar f
(4) uof faer= #

T |

[eH @ IR H fEfafaa & o9 W1

B ITAd B ?

(1) &N # ofafRy ) THSefue M §
¥y ®u A rHRme afg 8 ol §

(2) TSI & JARH BF B “IGIGT” Bed ¢ |

(3) IHI TSEH & SR I 40 ml Iad
e BT B |

(4) IST STATN 3 76T 9 STeT 2 |

Q.104

Q.105

Q.106

Q.107

Q.108

Q.109

frfoiad 4 @ fod ve Sirs d #ral o
IRl STM arell Uh ST Pl A Fal HRL,
RS E GRS CIVAS LA S I B S E I
T B ?

(1) T IFATASSITHRBAT— X-FEAT

(2) ST RigM— 44 AR + XO

(3) FTgTheey RIgM— 44 STl REA + XXY

(4) TUiEAar— Y-Hger

C-4 Uigi 31 gferdi 9 AfTd o BT Heeryul
CO, RefIdrv & SR fhad BT & 2

(1) yeresal |

(2) §R BIf@mRi #

(3) IreTcadn HIfRTERI §

(4) weggof HIfremreli #

faafid BIA-BIE SHoa eIl @

fovg & o9 o e 99 W 7 2

(1) 3199 Sied &1 H §¢ o8 uRml fasfad
PR H FqHed HEAETS §9 AL Pl YA
HaEi ¥ ugen <d T

(2) SHD! MEIfeA & AR H Bls uRacd el
BT RNfb ST S DI Sl eIl 8

(3) STa el H fiRmge oM § wifd
STD ASh—ASHAl I AT DHael U
B SO & dSdh—orsihal 3 8l ® |

4 dura I oo e guidgar g
JaTfedi # T8 hod 7

P9 & ®d & IERM & ISR Y& Ul
SIS

(1) ST (2) AR

(3) *7ig, (4) wx

Hell @ HIAR UBlel Tl & i o+ 9 i
g B weplac UgHl 8 ?

(1) AT WA Bl, g REAYe & T8
(2) TIGTHT AT FSATYS! TRETOT Bl

(3) g™ DI b Tyl WRET Bl T
(4) oAyl GRETOT q1 URIY= SH1 Bl

T B BHed H I UdRl @ o A

fafe=rar fhas HRor 3l & 2

(1) TP Yaiak & 1 94 R YA B IR
EARSIE|

(2) sraftash favsara®s

(3) Wiz ¥R favsaras

(4) eI qaell &1 I

Qcollegeduma



AIPMT - 2008 =

Q.110 9 RAfdyd & da el (e-wicw) # dH

Q.111

Q.112

Q.113

Q.114

Al U Y] HIS[E BIAT &l Uil Sl ?
(1) fFTaR 3ot et

(2) STfcr (drefisT) Fegeran

(3) Jerrf=raar

(4) @Ra sfa (=defsr) st

f=fofea & @ fow e Qe § awg
IRgs FHIA A (FA 4 H W) d sRATE
I & ARTEE $H |8 iR < T8 2

(1) N,O 6%, CO, 86%

(2) ®IF 20%, N,O 18%

(3) CFCs 14%, #1949 20%

(4) CO, 40%, CFCs 30%

JAEH BT QA IU-3HRAT s HifaD
A R W AYd §g W&l & ?

(1) §F=nferm (2) dfTaH

(3) PR (4) HTS

I Uh W H MR U R P AR
AT (A-D) IR T W™ H ITd BRI B
B AR AR (a-d) & Y | 37 AT iR

I B fafed & wE e @1 g -
Qfa ®ri fafer

(A) et (a) TR PI Afdad d
UgE ¥ A

(B) ®eH (b) IFARTYUT B T B AT

(C) YHARBISE (c) JATSIERT 7 B &l

(D)PIR-T (d) IR # Yol B A
Bl

e

(1) A-(c), B-(d), C-(a), D-(b)
(2) A -(b),B-(c),C-(a), D-(d)
(3) A-(c),B-(a),C-(d),D-(b)
(4)A-(d),B-(a),C-(b),D-(c)

it BRBIRAT &I IHIRTARN JITe

IR&eeaT § yRaTad fbar i 8 6 vSARiE

CIEBRDE (ATP) SAfIT 991 & Fiifd : -

(1) e fEreell & IR—UR Udh WS gorar
9 STl B

(2) TSR SRBRWE (ADP) & fog Wiad
qIgcIhitsdd  freell @ U= H
R 3 ST B |

(3) ASSIHIvSIA WM H ST ol e
CRESIcRS

(4) ADP &1 Hfga & drev 3faRifereat] &1 §
g R AT S B

Q.115

Q.116

Q.117

Q.118

Q.119

Q.120

TEerifes okl SiF &1, wiiois aed &
1T ST Sl FHT e’y |awa gai 2
(1) DNA UieliRal 9(2) vaargfderysti 3

(3) DNA @151 A (4) USIgfdeAgsti o

TARIERYT & R, difgdei/cdrs § oo

AR Pl CCHl QE[ YHISIT  HTHIC: i?bﬁdn
PR Bl I ?

(1) #& THcATHYTl By

(2) argTTS B

(3) ol e MR

(4) FESH TAT ARASTA

grIFfAforgT 1 Hicl qAT FHIEe] DI U
fad! U ISTERT 8 2

(1) 3raeE) &7 (2) ufmaolt fawr

(3) FHART 3T (4) AT 31T

e Ry o W IR SuRi (1-4) W @R
DT S & T a7 H W@l ohavas
efofar I 98 oW AR | Bl URI S g,
FIgell I B FHAAdd ST & oy fvy
ST HHT E -

(i) 9rst fasor &1 fssaa

(i) B9 T & IS & HIcdEd BT 0]
(iil) Hact IFTH ISl BT TR

(iv) 7 & forg gfeRIe fossdi &1 SuT
SR & T # | <1 SUR 9 s I A
o 81 | 7 2
(1) (iii) 3R (iv)

(3) (ii) 3R (iii)

(2) (i) 3 (iv)
(4) (i) 3 (i)

frafeefa (Rors) e fawa 4 faw
HHE (2002) FHET AT AT 2

(1) 3roffesn (2) feror bt
©ESIC (4) s

Sfd & g vl 5 1o & She SR B ?
(1) 3Ma wReifadr  (2) Il Bfeai
(3) 3rgaen fafamor  (4) TquRS gad

Qcollegedunia



Q.121

Q.122

Q.123

Q.124

Q.125

AIPMT-2008 =

Uit fsaat 941 811 & 2

(1) U AR I, SR &Y Sugebrgal Bl € |

(2) VEERH B, ST Th RS AR H, Th
TN B T HeAH & & |

(3) Ps ASANAM BT, S TP Thal mRNA I
Hel W& & |

(4) 3FTh SAIMI P, S TSR STifetd &
T I59] I el W& B

<Jfaed Al & ARG ARDI & [hd b
SiIe @1 S9d AN & T Ao & A1 ITerd
e @ g 2

() @, e — =R

(2) VS, ergeiE — =l

(3) o, et — RSN

(4) A, TR — eRAEH

frafaRed & & 59 & § ®a Fewy,
e IS W fIeRia ik Sva 99
QSR dISITERYl Tel Bl © ¢
(1) 3H™E () @RI
(3) IR (4) ot

gRaeelie Y1 gRT Yoy &1 IyAFT fhasd
45 H Bl © ?

(1) = (2) FEBT
(3) TTRT (4) 3R
DNA 39 & ¥R : -

(Haeds & 9 TSI &1 U
JTETT—3TeT Sfid H 3T T—3TeTT BT & |
(2)q1 T/9F BN T Sl Uh G & TR
IO Bl TH S>3 fawn # den g

35 |
G)RE  fdererssi  dur UsREEH
<fIaegS Bl Adhel AT Fed THaRTER
T Bl |
(4) 1 9P B B W1 5'— 3 e # |FHmR
oA S 2 |

Q.126

Q.127

Q.128

Q.129

9, A9 Bifderdr  (HUNad) b TS Uhd
uTel & SIRY WM BT INE fE e
ST RE 8 ;-

ffoReg 4 9 fow e fRfeed 4 O
AmHifhd 9T @ |e 9 T MU B -
(1) D: IS M PIfABN

A: 3[Rl B: BIEd fSieell
(2) A: IRAPI B: BIGH fRieel C: Jideriiat
(3) B: BI&H f3ieetl, C: IR, D: T BIRIHIY
(4) C: 3T, D: HI<T I PIRABIY, A: ARA

fRds don uefie dfirees RURT &
A BT GeY, 90 [h PIFRRT B b
TET W § 2

(1) SRR | (2) Ui 4

(3) STRIRIRET | (4) TRSARET |

ofpiqrd, MOMe do MAIAaRIRaw

e IameRo § 2

(1) Sharopeit @, f7=a1 DNA fRifdrer grar serar
HAPRIHAD wY ¥ AfHsierd Bl 8 TR
RrH (@ Ifieaad R @ @
ATgeIpivgar ¥ 8 §

(2) Shavgsii @I, 6 HIaR e BRSBTS B
qAT MR B ¢ |

(3) JmiEIRT &, oFa Mk W urdH
B © O ghsihdl & dle—few B
HAGI B 2 |

@) PRI B, s AR W& BIS
fee 781 81 Sl ghafbdl 4 Uy S
ael feedl & ||E 8, wRg e
DNA TS &Y 3 Afgsfora g 2 |

wRd # f=faRed #§ 9 59 t@ &1 Siared
Sl & fAbed & BT H Udh Sasu_ B dRE
SEIHT B BT Uer fhar o 81 § ?

(1) =g (2) $fSrettea

(3) SigI®1 (4) VeifevE

gcollegedunia:



Q.130

Q.131

Q.132

Q.133

Q.134

AIPMT-2008 =

fgaredl gadrsdl aEiad] TS 4§ a9 b
3B Udel ISl Bel a1 Bidl & ?

(1) = (2) HHTHETY

(3) DRI (4) Rrsrer

frafafea & 9 59 @ SIS @ dISEl @
S9b TerR SrrEr falme vRA s @
FHad & A Fel A T ® 2

(1) AUG, ACG  — IR9=/HENM
(2) UUA,UCA — g

(3) GUU, GCU ~ — VoA

(4) UAG, UGA —%& oIl

ffofed § 9 o @ fAvew § W9
T ol QU MY E e sMuR WRAieH
DI ASHE qAT USTH A T UEAET S
FHAT 8, 3R AT & Sl IFD! e
@ I 9T W & ?

(1) UREAYST T QT IFEATERYT

(2) Yo gRgE Terr SiRer fawse

(3) IR arfe= dern wi—RR=I @l srguRefd
(4) aRP @l @ SuRYfd den SR @

SrguRefd

Hgall H Blg HdHIA el BIdl, WK S| 4
i @Wed & SRME AT 3 RRT wid &
ST U4 Udh Saalferd ddhid & ©U H By
BT 2 | VT fhdad BRI BT ' 2

(1) TR HTel BT HHID

(2) >

(3) e &g

(4) Xad

frfaRed & 9 fow e #, dag woft &

Te quie fear g ?

(1) Z&T — 9/ 99 <M ga D D
3Ter et SR Rerd B
2l

— 10 SITS! ERY (2SSl 98
TR TAT § ST IR W)

— QMER T § HHId {NT
qeI 31 B B

— T8 O WrT-9Y, T
IR e 7 fawrfSrg e @

(2) BIFRTE

(3) dgar

(4) Hedh

Q.135

Q.136

Q.137

Q.138

Q.139

Q.140

Q.141

Al # g8 DA Yo fSreel B R
ERT TR & WR YO &1 Y& T8l 8l Urell ?
(1) 9a® ®re (2) SH

(3) SRTY (4) o=y T

Ahel dRIH FHET BT T 70% 9T o
H U1 1@ @ -
(1) FET TR |
(3) ITIRerA] |

() ad |
(4) PR-uRT=T d

fFefaRed 4 31 59 v @1 IR WRiS
H 9a sgfo &1 AMIRS WR W IUEH
fear ST § ?
(1) wTgeifaam
(3) TeIRI&3T

(2) HHrIgHIT
(4) AIZDISFEIRTH

uIed HIfTET |, Rfddaer -

(1) @ foreen &1 Bl don I9& Hiar gar
B 2

(2) @ f3reell 81 BRll den 9 ok ol
Td I grel WY B 2 |

(3) foreen-uRAfT Bl © d1 SHd WiR
Je1Rd A1 ga forfis g 2 |

(4) Rreeh-uRefg et & don 9 MR
T SR ST ygred B ®

frfoRea & @ fow s d TReE @
ST U 9T ged B 8 2

(1) &ha o+ (2) SUTBfead™T auf a9
3) A gofard @ (4) Yeurg o=

gl Ut H Hael Sad [bad [T B § 2
(1) gegeot (2) TSI
(3) BT (4) ST

STl SRR (JEId HORTI) B YA

e forg fan <irar 22

(1) AR AEDT & AR S IR g1 DNA
BT R ST

(2) DNA 317 &I TI& el

(3) DNA Pl @UST H dIel

(4) DNA TUS| B I AIgel & AJAR 9IH
PR

gcollegedunia:



Q.142

Q.143

Q.144

Q.145

AIPMT-2008 =

e 9 &1 fbd U Siis H QM1 & 3
AT IAHTG U ' ' 2

(1) ATZHAA TAT YU

(2) USIFeT eIl 3SR

O ERRIENESPIRSSIE K

(4) ST AT URTLATERIGS

SR Sl & forg fgqed o o

ST a1fiies Suged BT © | VA gefery iifs -

(1) pfa & fgufordi & smen s arferes
IEAIT | U O E |

(2) T IR, a” I FHIET BT T8 THT,
AT 31 Rer & 2 |

(3) I IR FHA B afec | G @t
i # ST @1fde ReR B ¥ |

(4) SSRGS BT, O[T H I BRAT
I HE Rl PRIR ®Y H BT B
e & sraen fgayforai

B AR TR SR & Fe g B

favg 7 f=faRad aR &1 (i)-(iv) R R

DI : -

(i) SHBT T TERT FBlell Bl & T 9 3
T BT I R & |

(i) 9 ot =€ a9, e 1fa ¥ 9™ od B
qfe ST B FRETU B Fdb 3R SABI
INR HIC-AIC Tl & Pl Bl § |

(i) Y A9 @ 8 IR IT g G Bl
JNMEATIHAT &1 BICH |

(iv) 9 980 ifed I BT AR B & AR 9
U qE b dgHE b Fafia e H
Il BT SUAIT & B |

39 BUA § W DI W T HUF T § —

(1) (iii) 3R (i) (2) (i) 3R (ii)

(3) (iii) 3R (iv) (4) (ii) 3R (iii)

frefaRed & 4 o9 A1 TH AT HBISAH
wHferer @l fafredr =8 7 ?

(1) Fcdra (2) 3R TRH®T I59
(3) 98 URETRY G (4) FESAl

Q.146

Q.147

Q.148

Q.149

Q.150

I A AGISN H ARSI : -

(1) fieged & SIS/ &_ar & aifds JATTRIA
& {1 B D |

(2) ¥ T B IRM SEew THRA e
e B 2|

(3) &1 wau 3 fiegedt | 8@ 2|

(4) T TRl @1 afg 1 SARTT AT 2 |

[alfde fhareiiel HefdTls Tad Iad HIRIGNY
P9 A B T ?

(1) SRR 1 FRABTY]

(2) SERIFRIA TAT TebaTo]

(3) SERIFRET ToIl S3MRA-REN

(4) THTRIY] oIl HETHETHT]

frefoiad & & fod ge § R SR AmET
JHPIGME Wad AR dldl Woe  Sidl
el B € ?
(1) Hiefigrga
3) <R«

(2) Argw
(4) TR

TAR WSl &) SauTRal &1 g1d 8 2

(1) weae g a1 v ey smiae
(2) T Wbl FIRAT BT Rl ST

(3) TR (e JMRIA ST SaRIg 37T

(@) I B aIRAT T2l Mvad e smiae

fefolRea 4 @ &9 W1 e fawdomogs
BT 8 ?
(1) Uf$teH
(3) gy

(2) SHERfeH
(4) Afcafrg

Qcollegedunia%



Q.151

Q.152

Q.153

Q.154
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ANSWER KEY (AIPMT-2008)

Ques{ 1 2 3 4 5 6 7 8 9 |10 | 11 )12 [ 13 | 14 | 15 | 16 [ 17 | 18 | 19 | 20
Ans | 1 1 1 1 3 3 4 2 3 2 4 3 3 1 4 4 4 2 1 2
Ques{ 21 | 22 | 23 (24 [ 25 |26 | 27 [ 28 |29 | 30 | 31 [32 |33 |34 [35([36]37 )38 /([39]40
Ans | 4 1 3 1 4 4 2 3 1 3 4 4 3 1 1 2 2 3 1 3
Ques{ 41 | 42 | 43 | 44 [ 45 | 46 | 47 [ 48 | 49 | 50 | 51 [ 52 | 53 | 54 [ 55 [ 56 | 57 | 58 [ 59 [ 60
Ans | 2 1 3 2 2 2 3 3 4 3 1 1 4 3 1 1 4 3 3 2
Ques{ 61 | 62 | 63 [ 64 | 65 | 66 | 67 [ 68 | 69 | 70 | 71 [ 72 | 73 | 74 [ 75 [ 76 | 77 | 78 [ 79 | 80
Ans | 4 4 3 3 2 3 1 2 2 3 3 1 1 1 4 2 4 3 2 4
Ques{ 81 | 82 | 83 [ 84 | 85 | 86 | 87 [ 88 | 89 | 90 | 91 [ 92 | 93 | 94 [ 95 [ 96 | 97 | 98 [ 99 | 100
Ans | 4 1 3 2 4 3 2 4 2 4 3 1 2 2 4 4 2 1 1 3
Quesy 101 | 102 | 103 [ 104 | 105 106 | 107 [ 108 | 109 | 110 | 111 [ 112 | 113 | 114 (115|116 | 117 | 118 [ 119|120
Ans | 3 4 4 3 4 3 4 3 2 1 3 1 3 1 3 4 4 1 2 3
Ques) 121 | 122 | 123 [ 124 [ 125 [ 126 | 127|128 | 129 | 130 131 [ 132 | 133 | 134 | 135] 136 | 137 | 138 [ 139 | 140
Ans | 3 2 3 1 2 2 4 3 3 4 4 4 3 2 2 1 3 4 3 4
Ques) 141 | 142 | 143 | 144 [ 145 [ 146 | 147 | 148 | 149 | 150 [ 151 [ 152 | 153 | 154 | 155 ]| 156 | 157 | 158 [ 159 | 160
Ans | 4 3 2 4 1 2 2 2 2 4 3 2 2 4 1 4 2 1 1 2
Ques) 161 | 162 | 163 [ 164 [ 165 [ 166 | 167 | 168 | 169 | 170 [ 171 [ 172 | 173 | 174 | 175|176 | 177 [ 178 [ 179 ] 180
Ans | 3 4 1 4 3 2 1 3 3 3 2 4 3 2 1 3 2 1 1 1
Ques 181 | 182 | 183 [ 184 | 185 186 | 187 [ 188 | 189 | 190 | 191 [ 192 | 193 | 194 [ 195[ 196 | 197 | 198 [ 199 | 200
Ans | 2 4 1 1 2 3 2 4 3 4 4 3 3 1 4 4 1 4 3 3

HINTS & SOLUTIONS

2. Flux linkage = Flux through each turn

. . y
1. Only Vertlca.l component of V§10c1ty « number of turns
changes during projectile motion so, 3
there is change in momentum in < ¢=500x4x10" =2Wb
vertical direction only. 0 since ¢=Li
= L :$ = g =1H
i 2
o - -> >
45 > » v cos45° 3. F=q vxB| ie. magnetic force is
O vcos45°
perpendicular to both velocity and magnetic
Y o N
vsin4s field. A force L., to V does no work or no
5
: _ -
Change 1nAmomenAturn = AP power delivered by force which is 1, , V
=AP, i+ AP, j,since AP, =0 hence no kinetic energy or speed will change.
- >
_ T 2 since P=F.V=0
=APyj = P;,— Py
- - -
P, =mvsin45°, Py =-—mvsin45° As F1.,V.1,,dr.
- - -
AP =-mvsin45°,—mvsin 45° or dW=F.dr=0
X -
= _2mvsin 45° = —/2mv AP 4. Distance covered in n second,

1
=\2mv S, =u+za(2n—l),

—ve sign shows the direction of change in

1 4
momentum in —ve y-direction. =0+ 273 (2x3-1)
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de-Broglie wavelength associated with electron

moving with velocity vV, A=—
mv

h
he = 31 6
9.1x10™7" x3x10
Wavelength of particle of mass 1 mg moving
with velocity V.

So,

h
hp=—""7F—
1077 xv
Asgiven, L, =2
h h

= =
102 xv  9.1x107' x3x10°

25
v:wm/s =2.73x10"*' m/s

10~

_dp _d(mv),

&t dt da

m = mass of system as conveyor belt with sand
drops at time ¢.
dv dm
Fext =m-—+vV—
dt dt

dv
but v — constant, so, d_ =0
t

Fext = Vd_m =Mv
dt

N
F., isin direction of v of belt.
OR
. dv .
Since m.a =Fo + Froaction oo 1)
Consider belt as a system with variable mass

dv .
— =0, m = mass of system at time ¢

dt
dm dm ..
Freaction =Viec E =-V E ...... (11)
dm
= F. =v.—=Mw.
ext. dt
g -
F.,; is in direction of v to keep belt moving

with constant velocity.

Electric field due to the given charged ring is
zero at centre 'O’. So electric field due to AKB is
equal and opposite to electric field due to
ACDB, from the principle of superposition.

A
£

10.

11.

12.

- —
Since E is field strength of O along KO So
electic field strength due to ACDB along

>
OK and it is equal to E.
R=R,-A"}

. A
So nuclear density = o
v

m = mass of each nucleon, A = mass number

= 3m3 =independent of A.
4nR,
Mass defect
Am=2ZM, +(A-ZM, - M(A,Z)

Binding energy= AmC?

BE=[2M, +(A - Z)M, —M(A,Z)]C?
M(A,Z)=2M, +(A-ZM, - %
For constant acceleration

vZ =u? +2as

(20)* =(10)* +2xax135

300 .,
a=——ms
270
As v=u+at
20=10+axt
10=at
]():ﬂxt
270
t =9sec

In distance-time graph, the speed at instant is
expressed by slope at that instant. The slope is
maximum at C.

Heat required to boil water

Q=mcAT
=1 x 1 x (100 — 20) = 80keal
Heat given by supply
H=V.it=220x4xt
H=Q
=220 x 4 x t= 80,000
(o 80,000
220x4
1000
= sec
11
_ 1000 _ 1.5 min
11x60

N
[\
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13.

14.

15.

16.

17.

18.

19.
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In the phenomenon of electric discharge tube
through gases at low pressure, the coloured
glow in the tube appears as a result of collisions
between the charged particles emitted from
cathode and the atoms of the gas.

The output is the output of NOR gate hence the
combination will act as a NOR gate.

V:im3
3

ﬂxlOO:%{gxlOOj
Vv r

% error in volume = 3x% error in radius
=3x2=6%

Moment of inertia of the system
M) ML)
3 3
ML? . ML>  ML?
12 12 6

Frequency corresponding to 2eV is given by
E=hv

= 2x1.6x107Y =66x10* xv

ve 3.2x107"

6.6x107*

I=1I, +1, +2yL;I, cos¢
L =T+ T
Lnin = \/I_\/E)z

Linax + Linin
(i
(1 + 1, 4200, (1, + 1, — 20T )

=2(I, +1,)
In cyclic process since initial and final states are
same internal energy is a state function
therefore initial and final internal energies are
also same. So change in internal energy is zero
hence E = 0.

1

=5x 10" Hz

20. 1, =1 amp = current through 4Q
1, = currentthrough 3Qand
,i—l = 3 =i, = iamp
i, 4 3

. 4 7
1;=1,+1, :1+E:Eamp

i, 34 7 12 . 5
2= o x =i x—
i, 127 3 7 4
40
o— ¢
P v =
0.50 M
1Q
0.5Q
N
—>- W
I3 12/7 Q
o— — o
P M
N

iy 1/4 Q 1Q

Sy = ? amp = 3.2 amp

Vim =P.D. across Nand M =i, x 1Q
=32x1=32volt
Second approach.
VpleAX4Q:4VOIt
Ve _ L and Vpny + Vi =4 V
Vau 4

%~VNM+ Vu =4

VNM: ?V:32V
21.
0°C Scale W Scale
B.P. 100°C 239°W
C=39°C—— —T W
F.P. 0°Cc ——- 39°W

W is the temperature on new scale
corresponding to 39°C on °C scale.
C-0  W-39

100-0  239-39

0,

N
w
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C _W-39
100 200

or W=£ x 200 + 39
100

=£><200+39=78+39=117
100

So, temperature on new scale is 117°W
corresponding to 39°C.

Given y=0.25 sin (10mx — 2nt)

Comparing with equation of wave
y = A sin (kx — ot)
A=0.25k=10m, o =2n

277: =10m 2nf =2n

f=1Hz
1o 0.2m
5
When sign of coefficient of t and x are opposite
. dx . . .
1t means E =V >0 i.e., wave is propagating

in the direction of growing x.

Since

Q and E = Q ;

4meyr 47580r2
Given V=Q x 10" = Q 4ne,r
1

V=

= r= — 1
4ney x10
ie., E= X
r
= E:Q—V:Qx1011x4nsox10“

r
=4mepQ % 10?? volt m™

1 .
C = = velocity of em wave through

VHo €9
medium  having
permeability (L).

permittivity  (g) and

Path difference Ax=x;-x,=15-10=5m
A=0T=300x0.05=15m
2= e 25 28
A 15 3

Maximum acceleration a = — o> A
a,  ofA _ (100)° 1

a, oA (1000 10>

27.

28.

29.

30.

Lattice parameter
A
V2
N2 2x36
4 4
=09x141=127A

a=

Energy used per sec ' to operate turbine

=mgh =15 x 10 x 60 joule

=9000 joule
Power supplied to turbine = 9000 joule sec™'
Power loss due to friction = 900 joule sec™'
Power generated by turbine

= (9000 — 900) joule sec ™"

= 8100 joule sec”' = 8.1 kW
Second approach

20 _ meh , 90

100 t 100
_ 15x10x60x90 _ 2.1 kW

100

Pgenerated = Pinput

Energy stored in capacitor for field

= Loy
2

_1fgA 2
2( . j(E.d)

1 gAE3d

N

Energy stored in capacitor + Energy loss in the
process of charging = Energy given by cell.

B
d

=2 x Energy stored in capacitor
Since energy stored in capacitor = Energy loss
in the process of storing the charge in capacitor.

\
I~

5x10" m

u=1.
u=f=10cm=0.1m
v _ h;
u h,
0.1 h;
= T 9
1.5x10 1.39x10
8
b= 10 9510 m
1.5x10

24
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Total force on the current carrying closed loop 37.

should be zero, if placed in uniform magnetic
field.

F;
Fhorizomal = (F3 - Fl)
Fvcrtical = FZ

-> o - . >
Resultant of F,, F, and F; is F

F=y(F, - F)*+F}

Since total force = 0, hence force on QP is equal

where

IR
to F in magnitude but opposite direction. 38.

For=y(F; —F)” +F;

rR=PL

A
Now, /[=1+ L=ﬂ
10 10

and therefore, A = %

11
Px(loj I (11)2
Sor'= 10 oL (D" _ 51 p
(IOAJ A (10)2
11

Now resistance becomes 1.21 times of initial
and specific resistance is the intrinsic property
SO remains same.

Curie temperature is that temperature above

which a ferromagnet becomes paramagnet. 40.

Energy density and Young's modulus have same
dimensions and equal to [ML'T]

Dielectric constant and refractive index are
dimensionless.

Since Eg = — 13.6 eV ; Energy in the excited
state

- 36 3.4eV
4

AE = Excitation energy

= Energy needed to raise the electron from

ground state to higher level

=-34+13.6=102¢eV
A
Voltage gain = ——Y—,
I+BAy

9 .
where f = — =0.09, voltage gain = 10
p ™ ge g
— 10 = ‘3—\’
I+—.A
100

= Av=22 — 100
0.1

39.

Current through galvanometer
-V oA

50Q2 + 295002

Current for 30 division =10~ A

Current for 20 division = % x 107

— 20100 A= 3
3 50+R
= R =4450 Q
m;V; = mMpL;
gun shell
200
4 x V| = X 0y
1000
Y29 e
L

1 2, 1 2 3
—m;v; + —mpv; =1.05x%x10
P

201 +% v3 =1.05 x10° -(2)
By equation (1) and (2)

v, = 100 m/s
e = E, sin ot
i =1 sin (ot — )
Py =Eims . Iims - cOS ¢

Ey Tp
=—. —=.cos ¢ = Eoly cos ¢
V2 V2
4N and 2N are opposite

Sonet=4-2=2N
Now figure becomes

2N IN AN IN
309 30y 30° 307
60° 60°
2N

Horizontal component of 2N along —ve
x-direction is X; =2 sin 30°=1N
Horizontal component of 1 N along +ve

x-direction is X, = 1 cos 60° = %N
So, net horizontal force is % N along —ve

o 1 . . .
x-direction, hence 3 N is required in +ve

x-direction

gcollegedunia;
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Voltage across all three branches are same, i.e.,

3A 20
——— AWWW—————

4Q

A A
v vv

10 50
L A ——MWWW—
i
[\

|I
3x2=ix(5+1)

i=1A
Power dissipated in 5Q2
P=i’R

=(1)* x 5=5 watt
X1 :No efSM
_ -t
Xy = N() €
X _ oM
X3

Eincidem =W+ Kmax 5 I(max = e\]0
hv =hv, + eV, ; stopping potential = V
he

—=06.2e + 5e
A

_ hxc _6.63x107* x3x10°
112x1.6x107" 112x1.6x107"

=1.1x10"m
Hence the wavelength of ultraviolet region.

. b
X=asin| ot +—
( 6j
dx T
V= —=2amcos | ot +—
dt 6

Umax = a0

P=P]“!‘Pzzi"l‘L
1 fa
p— fi+/s
frfa
PV =nRT or LA LRT
M M,

47.

48.

49.

50.

51.

P RT p 1
or — = — =« =
P M, P T
PP T x _ 38
PP, T, 0, /P, 283
Py _ 283
P, 383
sz
mg—N=
N
mg

When N = 0, for weightlessness
2

~mg
= v =1rg=20x10=200
v=14.14
A=’ =0.04n
¢=BA cos 0
= l x 0.04 ©t X cos 60°=0.02 Wb

Eoc/iand E - .rocl
R+r
r+R [}
:> = —
=>r= l—l— .R
I
_ 110-100 x10=10
100

In case of diatomic molecules (X;) of halogens
the bond dissociation energy decreases in the
order :

C12 > Brz > F2 > 12
The oxidizing power, electronegativity and
reactivity decrease in the following order :

F2 > C12 > BI'Z > Iz

Qcollegeduniaz
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Electron gain enthalpy fo halogens decreases in
the following order :

C12 > F2 > BI‘Z > Iz
The low value of electron gain enthalpy of
fluorine is due to small size of fluorine atom.
The average translational KE of one molecule
of an ideal gas is as follows :

K = KE _ 3/2RT:iKT
N4 N4 2
When R/N, = Boltzmann constant
ie., EicT
Thus, at constant temperature KE of molecules
remains same.

= ——=

2AB;(g) == 2AB(g) + By(g)
2 0 0 initially
2(1 —x) 2x X at eq.
Total amount of moles at equilibrium
=2(1-x)+2x+x=2+x

[Pys]* [Ps, ]
[Pas, I

2x 2 X
{2 XPi| x[z XPi|
sz + X + X

[2(1—)4)”,}2

24X

p

3
24X x P
K =2+tX
P 41-x)>

K, = 4x3 xP

X %(As l-x~1land2+x ~2)
x = (8K,/4P)"? = (2K, /P)"?

According to the given data, when
concentration of Br, is doubled, the initial rate
of disappearance of Br, remains unaffected. So
order of reaction with respect to Br;, is zero. The
rate law for the reaction will be :

k [CH;COCH;] [H']

Fe(OH);(s) =—== Fe’" (aq.) + 30H (aq.)
[Fe’*][OH ]’

[Fe(OH); ]
K =[Fe*'][OH ]
(as activity of solid is taken unity)
Concentration of OH ion in the reaction is
decreased by 1/4 times then equilibrium
concentration of Fe’* will be increased by
64 times in order to keep the value of K
constant.

C3H8 + 502 —_—> 3C02 + 4H20
1 5 3 4 (Volume)

57.

58.

59.

60.

So 1 volume or 1 litre of propane requires 5
volume or 5 litre of O, to burn completely.

pH =—logy, [H']
[H+]=10""
[H+] of solution 1 =107
[H+] of solution 2 = 107
[H+] of solution 3 = 107
Total concentration of [H']
The volume taken in each caseis 1 L
=10°(1+1x10"+1x107

:10’3 1+L+L
1 10 100
=107 LEaY =1.11x107
100

Therefore, H' ion concentration in mixture of
equal volume of these acid solutions

-3
_ L1107 ey

The relative reactivities of acyl compound
towards nucleophilic substitution will depend
upon the nature of leaving group ability. Weak
bases are good leaving group.

| -
CI <R—C—O <R—O <NH,
Basic strength increases

0]

[ .
CI'>R—C—0 >R—0 >NH,

Leaving group abilities increases

0
.
VN
" R—C—Cl > o >
R—(Hi/
0

i i
R—C—OR > R—C—NH,

DNA contains two types of nitrogenous bases,
ie.,

Purine — Adenine (A), Guanine (G)
Pyrimidine — Cytosine (C), Thymine (T)
Adenine pairs with thymine (A : T) by two
hydrogen bonds and Guanine with Cytosine (G :
C) by three hydrogen bonds.

H—C=C—H > CH2=CH2 > CH37CH3

sp sp sp’ sp’ sptsp’

(Acidic character)
Conjugate base of the given acid is as follows :
C®C—H < °CHCH, < °CH,—CH,
(Basic character)

So conjugate base of stronger acid is weaker
and vice-versa.

27
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Equimolar solutions of the given chlorides
when prepared in water forms their respective
hydroxides. Be(OH), is amphoteric, but the
hydroxides of other alkaline earth metals are
basic. The basic strength increases down the
group. Therefore higher the basic character
higher will be the pH.

As smaller the size of cation, higher will be
hydration and its effective size will increase so
mobility in aqueous solution will decrease.

According to Heisenberg uncertainty principle

h
Ap.Ax> —
P 4r

h
mAL.AX > —
4n

(m.Av)* > LE
4m

Av> 2L /)
m

Given compound,
CH3CH=CHCH2CHBTCH3
may also be written as follows :

CH; H H
Se—
H CHZ—(|I —CH;
Br

Both geometrical isomerism (cis-trans form)

and optical isomerism is possible in this

compound.

Number of optical isomer =2"=2'=2

(Here n = number of asymmetric carbon)

Therefore, total number of stereoisomers
=2+2=4

[Fe(CN)s]© — [Fe(CN)s]*, E°=+0.35V
Fe’' —— Fe’', E°=+0.77V
Higher the positive reduction potential, stronger
is the oxidizing agent. Oxidizing agent oxidizes
other compounds and gets itself reduced easily.

As ionization enthalpy (both first and second)

increases from left to right across the period.

Only chromium is exceptional due to the stable

configuration (3d°) so the correct order is :
Cr>Mn>V>Ti

The electron density of 'phenol ring' is most
among chloro benzene, benzyl alcohol and
nitrobenzene.
In phenol, due to 'OH' group there will be both
+M and "-I". But +M-effect of 'OH' dominates
over its "-I".

68.

69.

70.

71.

72.

He} < 0, <NO< C3°
Bond order 0.5 1.5 2.5 3.0

PbO + 2HCI —— PObCl, + H,0

x mole 2x moles X mole
6.5 3.2
—— mole

224 36.5
=0.029 mole = 0.087 mole

Thus, 0.029 mole of lead (II) chloride will be
formed from a reaction between 6.5 g of PbO
and 3.2 g of HCI.

mole

More is the electronegativity of hybrid atom,
more will be its tendency to retain the (—)ve
charge.

R—c=Cl > @ > R—C=CH
(sp) L

I|{

> R—C—CH,
| p)
R

The electronegativity of hybrid orbitals,
depends on their 's' character. It follows given
order,

sp > sp2 > sp3

electronegativity increases

Acetophenone when reacted with base like
C,HsONa, will undergo aldol condensation
reaction with simultaneous loss of H,O
molecule.

O«——H O
H;C—(! Hz(‘j—g
(o)
"o
lCszoNa
OH OH
H;C—C—CH—C—Ph
(H)

|0

0)

|
H;C—C=CH—C—Ph

Weight of 6.023 x 10* molecules of water = 18 g
As volume occupied by 6.023 x 10* molecules
of water (density = 1 g cm™) will be

28
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18¢g

lgem™

T = 18 cm® or mL

So volume occupied by one molecule of water

= LB =2.988 x 107
6.023x 10

=3.0x 102 cm’

80.

H, + Cl, —— 2HCI
AHieaction = z:(Bl-:')reactam - z:(Bl:j)product

= [(BE)u—u + (BE)ci—ca1] — [2(BE)u—ci] 81.

=434 +242 - (431) x 2
=—186kJ
As AH eaction = — 186 kJ
So enthalpy of formation of HC1
_ —186kJ
2
=-93 kJ mol™'

The oxidation state of Co in [Co(OX),(OH),] is

+5. This is not possible. The oxidation state of 82.

Ti in [Ti(NH;3)s]*" is +3. Ti*" has just one
unpaired  electron. O.S. of 'V' in
[V(gly),(OH),(NH;),]" is again +3 and it means
the number of unpaired electrons is 2. Oxidation
state of Fe in [Fe(en) (bpy) (NHz),]*" is +2. So it
contains 4 unpaired electron. More is the
oxidation number of unpaired electron more
will be the paramagnetic character.

Natural rubber is cis-1,3-polyisoprene and has
only cis-configuration at energy double bond.

N=NCIl
@/ NH2 %_)

B
) (B)

CH;
©-=-Or<
CH,

(C), Butter yellow 83.

p-dimethyl amino azobenzene

PCls(g) —=—— PCl5(g) + Clx(g)
AH = AE + AnRT

Here, An = Change in number of moles of 84.

product and reactant

As An = +ve, so AH = +ve
AS = Sproduct - Sreactam
AS =+ve

Uncertainty in momentum
(mAv)=1x10"%gems™
Uncertainty in velocity

79.

1x107"®

=1.1x10"cms™!
9><10728

(Av) =

The angular shape of ozone molecule consists
of 2 sigma and 1 pi-bond.

For body centered cubic structure, packing
fraction = 0.68, i.e., 68% of the unit cell is
occupied by atoms and 32% is empty.

HI(g) == 1/2H,(g) + 1/21x(g)

[HI]

Hy(g) + In(g) === 2HI(g)
2

k=" _ (1/8)*

[H, ][, ]

K'=1/64
X=—=Y+2Z (1)
A———=2B ..(2)
Xe—=Y+Z7Z

Initially 1 0 0

Ateq. 1-o o o

Total no. of moles at equilibrium
=l-a+2a=1+a
A———>2B
Initially, whent=0 1 0
At eq. 1-a 20
Total no. of moles at equilibrium
=l-a+2a=1+a

_ Py xP, _ [(a/1+ )P J[o/1+a)xP]

Ky = =5
% [I-a/l1+a]xP

. (Py)’ _ [Qo/1+0)xP,T

P, [l-a/l+a]xP,

K _ B

K, 4P,

i:£:36:1

P, 1

Thyroxine and adrenaline are amine hormone.
These are water soluble hormones having amino
groups.

According to Kohlrausch's law "At infinite
dilution, each ion makes definite contribution to
molar conductance of an electrolyte whatever be
the nature of the other ion of the electrolyte"

0 0 0
AL A 4 Ae
A A .
+ and - are molar ionic condutance at

infinite dilution for cations and anions,
respectively.

29
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% Mole Simple
Element .. . :
composition ratio ratio
C 38.71 38.71/12 3.22/3.22
=3.22 =1
H 9.67 9.67/1 9.67/3.22
=9.67 =3
¢} 51.62 51.62/16 3.22/3.22
=3.22 =1

Green chemistry means such reaction which reduce
the use and production of hazardous chemicals.
Packing fraction for a cubic unit cell is
zx4/3mr’
f= =
d
Here a = edge length, r = radius of cation and anion
Efficiency of packing in simple cubic or
primitive cell = /6 = 0.52
i.e., 52% of unit cell is occupied by atoms and
48% is empty.
As primary is more reactive than secondary and
tertiary alkyl halides so CH;CH,Br has the
highest relative rate.
NO, > NOj > NO;
132° 130° 115°  (Bond angles)
If silicon is doped with any of the element of
group III (B, Al, Ga etc.) of the periodic table,
p-type of semiconductor will be obtained.
The reaction occurs as follows :
CH;

| 5+ __pd-
CHs—CH—CH=CH, ———2—> (A)

3-methyl but-1-ene
Mechanism :
CHj;

CH3—C|->—CHQCH2 +H"
H

!

X
CH;—C—CH—CH,

W/

2° carbocation
(less stable)

1,2-hydride shift
CH;
CH;—C—CH,—CHj

3° carbocation
(more stable)

l+ Br

CH;

|
CH3—C|—CH2—CH3

Br
(major product)
2-bromo-2-methylbutane

91.

92.

93.

94.

9s.

96.

97.

98.

Atomic mass of C=12,H=1and O =16

Thus empirical formula of the compound is
CH;0.
CFSE in octahedral field depends upon the
nature of ligands. Stronger the ligands larger
will be the value of Ay
The ionic character of the bonds in hydrides
increase from LiH to CsH so thermal stability of
these hydrides decreases as follows :
LiH > NaH > KH > RbH > CsH
State functions or state variables depend only on
the state of the system.
Here 'w' represents work done and 'q' represents
amount of heat so both of these are not state
functions.
In the following hydrocarbon

6 5 4 3 21
CH;—CH=—=CH—CH,—C=CH

s s’ st s’ sp o sp
The state of hybridization of carbons 1, 3 and 5
are sp, sp’ and sp” respectively.

[5e + MnO4 + 8H" — Mn*" + 4H,0 ...(i)] x 2
[C,0% = 2¢ +2CO, ..(i)] X 5
MnO; + 16H" +5C,05 —— 2Mn*" + 10CO,

As 2 moles of MnO, required to oxidize
5 moles of oxalate.
So number of moles of MnOj, required to

oxidize 1 mole of oxalate = 2/5 = 0.4.

1 -2 T
kl =10 6 e 000/
k2 _ 1015 eflOOO/T

The temperature at which k; = k, will be
1016 g 2000T _ ()15 o-1000/T

e—ZOOO/T 1015
e—lOOO/T 1016
e—lOOO/T — 10—1
log. o 1000 _ log. 10!
2.303 x logjo e " =2.303 x logy, 10"
-1000

XlOgloe:*I

On solving, we get

T =1000/2.303 K
A strong base can abstract an o-hydrogen from
aldehyde and ketones to form a carbanion or the
enolate ion.
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CsHix(g) + 80,(g) — 5CO,(g) + 6H,0(Y)
AG® = [(-394.4 x 5) + (-237.2 x 6)]
—[(-82) + (8 x0)]
=-3387.5kJ
The standard free energy change of elementary
substances is taken as zero.
For the fuel cell, the complete cell reaction is :
CsHix(g) + 80,(g) — 5CO,(g) + 6H,0(0)
This reaction is the combination of the
following two half reactions :
CsHix(g) + 10H,0(¢) —>
5CO,(g) + 32H" + 32e
80,(g) + 32H" + 32e —— 16H,0(/)
As the number of electrons exchanged is 32
here, son =32
AG® =—nFE°
—3387.5 x 10° ] = =32 x 96500 J/volt x E°
On solving, we get
E°=1.09698 V

100.

For simple cubic :
__a
rfh==
2
Here a = edge length and
P o
r "/t~ = interatomic distance

For body centered :
a3
4
For face centered :
rr= 2
22

Therefore ratio of radii of the three will be

a_&_ a

ri =

27 4 N

31
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